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Layer 4, T=10degC
® Data
O Simulation

Data: A=1.202 +0.018
Data: B=0.324 +0.013

Sim: A=1.228 +0.004
Sim: B=0.288 +0.003

TR BT
1.5 2
Over Bias (V)

Layer 2, T=10degC
® Data
O Simulation

Data: A=1.185 +0.011
Data: B=0.237 +0.010

Sim: A=1.214 +0.003
Sim: B=0.213 £0.003
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Over Bias (V)
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Layer 3, T=10degC
® Data
O Simulation

Data: A=1.186 +0.016
Data: B=0.294 +0.012

Sim: A=1.218 +0.003
Sim: B=0.261 +0.003

N
N

TR BT
1.5 2
Over Bias (V)
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Layer 1, T=10degC
® Data
O Simulation

Data: A=1.180 +0.005
Data: B=0.162 +0.006

Sim: A=1.209 +0.003
Sim: B=0.148 £0.004
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Over Bias (V)
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